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Question No. 15

The process of converting carbon dioxide and water, in presence of sunlight, producing glucose and oxygen 15

' Bullding up of large molecules trom simple inorganic cnes
Anabobc process
' Energy-converting celular process
-/ All answers are correct
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Question No. S

Cells of ............. can do aerobic and anaerobic respiration.

O Plant

< Yeast
U Algae
' Animal

S
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Question No. 13

| Chlorophyll consists of chlorophyll a and
|

© Chilorophyll d
> Chlorophyli c
L2 Chlorophyll b
' Chlorophyli f
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Question No. 19

Fermentation allows cells to produce ATP without using....... ...

Y Cco;
~ Water
O

~ Nitrogen
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Question No. 11

Which process In eukaryotic cells will proceed normally whether oxygen (O2) is present or absent?

L Glycolysis
. Electron transport
L The ciric acid cycle

'~ Oxidative phosphorylation
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Question No. 20

Light isthe. ...

) End product of photosynthesis
Energy that starts the citric acid cycle
'’ End product of oxidative phosphorylation
' Energy that starts the photosynthesis
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Question No. 2

In photosynthesis equation, CO2

Accepts hydrogen atoms
All answers are correct

Reduced and eventually converted to glucose
Gains electrons

A (B
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Question No. 1

which of the following s a product of alcohol fermentation?

Oxygen and ATP
Oxgyen and carbon dioxide
Glucose and carbon dioxide

Ethanol ana carbon dioxide
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Question No. 9

Algae are..........

© Chemoautotrophs

© Heterotrophs

© Photoautotrophs

© All answers are correct
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EENE
Which of the following is a possible anaerobic product”
Fructose
- Glucose

Oxygen
Lactate
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Question No. 18

The step in gerobic respiration which IS hsent In anaerobic It ‘j'-[l!ﬁ.iflu?li IS
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Question No. 6

© is a digestive compartment within the cell
© is a biosynthetic factory

f © finishes, sorts and ships cell products

1 © stores molecules and wastes

| [
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Question No 1

GluCose synthesis i resulted fom

Light readction
Dtk rencion

None of them

Oxidation 1eaction
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Question No. 15 i o

T
he process of converting carbon dioxide and water, in presence of sunlight, producing glucose and oxygen is

- Building up of large molecules from simple Inorganic ones
‘.’ Anabohc process

' Energy-converting celiular process

.’ All answers are correct *

@\%D
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Question No. 13

Converts the chemic;
S the chemical energy stoted in food into ATP

Golgi Apparatus
Lysosome
Mitochondrion

Chloroplast

[

X
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Question No. 7

Which of the following is an example of an anabolic process:

Krebs cycle

Cellular respiration
Citric acid cycle
Photosynthesis

5
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~Electron Transport Chain
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_-m‘:f'- NO. J

Products of glycolysis include :

NADH, ATP and pyruvate
FADH2, NADH and pyruvate
NADH, ATP and CO2

FADH2, NADH and CO2
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Which of the following is a possible anaerobic |

Fructose
Glucose
Oxygen
lLactate
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Question No. 20

Stages of aerobic respiration in cells include

Glycolysis, Krebs Cycle, Oxidative Phosphorylation

Light reactions, Oxidative Phosphorylation
Glycorysis, Calvin cycle

Light r€actions, park reéactions
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<) Electron transport chain
., Cawin cycle and Electron transport chain

", Calvin cycle and Krebs cycle
. Glycolysis and Krebs cycle )><
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Quosﬂon No. 19

: which one of these slages produces mosl of ATP molecules?

< Glycolysis

( Glycolysis and Krebs
' Krebs cycle ‘
(. Oxidative phosphorylation
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qQuestion No. 16

rocess’?
How many slages In photosyntnesls p

One stage

Four stages

Three stages
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Question No. 16

Photosynthesis IS .............-----

) Oxidation + reduction processes
» Only an oxidation process
A type of respiration
Only a reduction process

C
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Question No. 1

~ Which of the following is & product of alcohol fermentation?

L' Oxygen and ATP

2 Oxqgyen and carbon dioxide
" Glucose and cartbhon dioxkice
L Lthanol and carbon dxide
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Question No. 21

Transpert mechanism of 5Chents which occurs only ACI055 SEMILPErMeatie membrane 15 cated

7 Osmosts
Exocylosts
Mtuson

" ACtive transpont
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Question No. 10

SE——

Redox process in cellular respiration include ...

O Reduction and Oxidation
O Oxidation and Dehydration
O Hydrolysis and Oxidation
O Reduction and Hydrolysis

A\
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Question No, 22

Hetore the ondative phosphory lation, how many ATP has the cell ganed trom metabotem of ene gucose?
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Question No. 19

Fermentation aliows cells 10 procuce ATP without using

© COox

“ water
0

“ Nitrogen

Sca
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| Question No. 14

| What happens to the lactate in skeletal muscle cells?

- It is converted to alcohol

- Itis taken to the liver and converted back to pyruvate
< It reduces FADH2 to FAD+
" Itis converted to NAD+
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Question No. 16

What are the two types af fermentation?

O lactic acid fermentation, Acetic acid fermentation

“ Acetic acid fermentation, Alcohelic fermentation

-1 lactic acid fermentation, Alcohobc fermentation

L lactic acid fermentation, Carboxylic acid fermentation

L “
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Question No. 17

Anaerobic respiration

.........

© Use nitrogen...... . . Produces oxygen

O
~ Usewater...... . Produces oxygen

®
< Useoxygen. ... . . Produces glucose

' Don't use oxygen......... . Uses oxygen

hY
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Question No. 7
Which of the following is an example of an anabolic process:

Krebs cycle

Cellular respiration
Cutric acid cycle

Photosynthesis %

Scanned with CamScann

Scanned with CamScanner



2:48 i1 46 T

@235 sbal )- Gl Olaazipdf (1)

85 of 346

Scanned with CamScanner



@ (2 3255 sls )- gzl wilasazipdf (1

86 of 346

uestion No. 14

irganisms making their food using light are: ...

Chemo-autotrophic i \e\%

- Heterotrophic

s Photo-autotrophic and chemo-autotrophic

Photo-autotrophi

\
' Question No. 15
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'he source of oxygen released in photosynthesis is ....

Glucose
carbon dioxide

Pyruvate

o Water Q
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Il‘ |J

‘ © Occurs within the thylakoid membrane

¢ Need ATP from Calvin cycle |
~ © Produce sugar

\‘ ® Do not require light energy

s

1al pH for human enzymes to functic
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[

Question Nh_

' Which of the following statements is FALSE?

O Glycolysis does not require oxygen
O Glycolysis does not require ATP

kj‘ Glycolysis begins the breaking down of glucose
~ Glycolysis occurs in the Cytoplasm
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‘ What three things do plants need for the process of photosynthesis’

|

el Sunlight, oxygen, and sugar

- © sunlight, carbon dioxide, and water
- © water, soil, and oxygen

- © suniight, soil, and water

"“‘"&‘ATPtowuermeceladrvny
~ Breaks down Carbon dioxide

-

Light is absorbed by some substances, these substances are knov
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1 Light is absorbed by some substances, these substances are knov
I

' O Pigments
- O veins

' O Stomata
- O stroma
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Photosynthetic pigments are focated in...!.

@ swoma
@ cCytoplasm
@ Granum
@ Thyiakoids

l
\
}
i
i
|
i
?'

Which of these are found in animal cell but NOT in plant cel

© chioropiasts and tysosomes
© Centrioles and DNA
® Nucbusandm
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Chiorophyll

iiiiiiiiiii

O Absorbs water

' Absorbs carbon dioxide
' Absorbs sun light
~' Absorbs Oxygen
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Cellular respiration that occurs without oxygen is

~ © Chemotrophic
O Aerobic

O Pnototrophic
O Anaerobic

—— e

f Products of gtycolysls include :
;

E FADH2, NADH and pyruvate
: O NADH, ATP and pyruvate

O NADH, ATP ang co2

“ FADH2, NADH ang co2

Vihat are i Ynree main types of passive transpor
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Question No. 12

Which one of the following is true?

O Cellular respiration occurs in mitochondria and in chiorop
\ Photosynthesis occurs in mitochondria
) Cellular respiration occurs in mitochondria

O Photosynthesis occurs in mitochondria and in Chloroplasts

e e

SR ———
*

In salt water, Satisthe .....................

Osomte
' © Solute and sqiyent

o~
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Question No. 10

Crxygenis consumedin ...............

O Respratory electron transport chain
O krebs cyde

O Dpark reactons

O gyoolyss

| Total questions in exam: 25 | Answered. 4

Question No. 12
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Question No. 7

Cellular respiration occurs .........................

- O in 3 main stages
'~ © in 5 main stages
' O in 4 main stages
' ¢ in 2 main stages

’ Question No. 25
! Organelie that detoxﬁes poisons is.......
| L ]
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s the immediate source of energy that powers most forms of cellular work

Y Gucose
Y Ghcogen
© app
Y arp
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' How many kyers is the phospholipid bilayer? -

< One
J Four
* Two

@) Thiee
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A, I

During photosynthesis, Photoautotrophs combine carbon dioxide and water to produce carbohydrates an
which of the following?

| @ H20

' © cHa

| © 02 ——
l@coz
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Question No. 7

Which of the following is an example of an anabolic process:

Krebs cycle

Cellular respiration
Citric acid cycle
FPhotosynthesis

P f—f—tm——s Lol &
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A._MZ."\ nNO. 2

Products of glycolysis include :

NADH, ATP and pvruvate
FADH2, NADH and pyruvate
NADH, ATP and CQ2
FADH2, NADH and CO2

Ermm
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At the eng ofglyco!yms‘ SiX carbon CoOmpound ultimately changed into...
Acetyl co enzyme

Ethangj

Lactate

Pyruvic acig
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Question No. 3

' The products of the Krebs cycle are the foliowing, except

® co2

9 02

O ATP
NADH
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Vater and glucose
Gacose and oxygen
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{ Question No. 13

| ‘ Chlorophyll consists of chlorophyllaand .................
|

O chlorophyll d
O Chlorophyll ¢
(2 Chlorophyll b
) Chlorophyll f
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) Accepts hydrogen atoms

) All answers are correct

) Reduced and eventually converted 1o glucose
) Gains electrons
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Question No. 23

Before the oxigative phosphorylation. how many ATP has the celi gamed from metabolism of one glucose?
phory ¢
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 Total questions in exam: 26 | Answered: 0

Question No. 9

Cells of ...ccoczacim can do aerobic and anaerobic respiration.

- © Plant
O Yeast
O Algae
© Animal
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Question No. 20

"""""" + 602 — 6C0;+

........... (Cellular respiration equation)

'® CsHinOs — 6H20
60H - 6H,0
6H:0 - 60H
6H:0 - CgH120¢
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Question No. 24

In giveolysis the activation of glucose 1s accomphished by
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Question No. 19

Fermentation allows cells to produce ATP without using......

© co;

' Water

< O
Nitrogen
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Question No. 9

All of the following are parts of the chloroplast structure, except?

stroma
DNA
Stoma

granum
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Question No. 3
How & anacfobic

respraton gifferent than aerobic respiration?

' 0 Anzerobic respration need oxygen
L @ Anaerobic respration does not need carbon
S @ Anaerobic respration need carbon
‘ ¥ Anserobic respration does not need oxygen

\
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Question No, 25

IS an energy-nich molecule, produced by cellutar respwration, is vital tor the funct

Oxygen
Sugar

ATP

Viater

Bio_Quiz2_Sem2_2014

ning of the cel
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| Total questions in exam: 25 | Answered: 0

| Question No. 15

| The process of converting carbon dioxide and water, in presence of sunlight, producing glucose and oxygenis . ...
|

o Building up of large molecules from simple Inorganic ones.
) Anabolic process
' Energy-converting cellular process

-/ All answers are correct

Scanned with CamScanner



12:22 all =0

(235 cbol )- gz Olagaipdf (N

256 of 346

Scanned with CamScanner



12:22 all =0

(235 kol )- gl Olasaxipdf (1)

Question No. 10

Redox process in cellular respiration include ............ f

}

- © Reduction and Oxidation
- O Oxidation and Dehydration
- © Hydrolysis and Oxidation
- O Reduction and Hydrolysis
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Question No 21

More )
lLess CO
More gslucose
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Questian No I3

W f of the rOBowIng 5 a possibie anacronic proaduct?

Gl oymer
- QOxygen
Lactate

Frocionse
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Question NO. 13

en light?
which type of chiorophyll reflects gre

Chlorophyll a
Chlorophyll b
Carotenoid

" Chlorophylla + b

Question No. 8

All Of the foliowing transported by active transport except the ——————— .

Complex sugars

Prote | G
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Question No. 23

Glycolysis occurs In

Both aerobic and anaerobic respiration

Pholoz;‘.ynllmsis
Aerobic respiration only

Anaerobic respiration onty
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Question No. 23

Number of stages in anaerobic respirationis ...

Six stages
Four stages
Three stages
One stage
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O Does not occur in plant cedls

@ Occurs in celts of plants, animats and yeast
0 Does not occur in animal cells
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Question No. 20

During cellular respiration, the glucose is used to........

All answers are correct

Release oxygen atoms

Produce high energy molecules
Manufacture a new glucose molecule
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3 Add a caption...

P..m.. No. 18

- The sugar produced in photosynthests comes from a stage called.

0 Glyeolysis

0 Cltrie actd cycle
" 0 Calvin cyele

o Light reactions

{ Add a caption... ﬂ
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Add a caption... 5
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| Question No. 23

' Number of stages in anaerobic respiration is ...

. Six stages
. Four stages
» Three stages

One stage

Add a caption...
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produces oxygen
produces glucose

¢ Use nitrogen...... - - -

() Useoxygen......... - -
O Usewater.......... - - - Produces oxygen
. Don'tuse oxygen........ . .. Uses oxygen
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Jast are called......--

e the chlorop

The connected sacs insid

© Thylakoids
() Stroma
| ¢ Outer membrané

|
. ) Inner membrane
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Question No. 21

number of oxygen molecules used in glycolysis IS ..........c--o
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Kiebs cycle
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2 All answers are correct

) Release oxygen atoms

. Produce high energy molecules

‘' Manufacture a new glucose molecule
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| @ Mnochondrta

| @ Golgl bodies
© Nucleus
O cell membrane
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Question No. 1

] -' F si87
which of the following 1S generated by ATP nydroly

' Deoxyribose
' Triphosphate

) ADP
Thymine

Add a caption...
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MKCL OFS5

ar and cell?

Question No. 10
which of the followings Is a common waste product between C

) Carbon dioxide

Glucose
_ Gasoline
< Oxygen

Add a caption...
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Question No. 1

Plant celis have but animal cells have nol

Cell membrane
Chloroplasts
Centrioles

Lysosomes
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Question No. 18
« NOT conskiered oulput of gark reaction

o ATP

O NADPs

o Gaxose
ADP
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Question No. 17
o joe the chloroplasts”. Tnis sentence Is incorrect pecause

~Only bght reactions occur Ins!
plasts

olosynthesis occur outside the chloro

« Both stages of ph
ur inside the chloroplasts

 Both stages of photosynthesis occ
' Light reactions do not occur inside chlorop!

& Only dark reactions occur inside the chioroplasts

asts
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